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Q1.(12 pts) Choose the correct answer in each of the following:
1. What is the total number of stereoisomers that can exist for the following molecule?
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a.?2 b.4 c.8 v -@4{

2. Which compound has R configuration?
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3. Consider the Fischer projection of the following compounds
CH, CH, CH, CHs
H——O0OH HO——H H——OH HO—1—OH
H———0OH H——O0OH HC——H H——[——H
CH;, CH, CH, CH,
A B C D
Which are enantiomers?
P
a A&B b.A&C @BEC d.C&D
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4. Which compound is optically inactive?

CH “7'\0H CH; " OHH
/\ & C )/\éﬁk MKCHS. D_MH\CHS

\ 5. If asolution of a rompound (30.0 g/100 mL of solution) has a measured rotation of +15° in
a 2 dn tube, the spt,(‘lﬁc/rol ation is:

a. +50° (byase c. +15° d. +7.5°
/



6. Which of the following structures represents a meso-compound?
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7. The strongest nuceophile among the following is:
/ '

//'A'
() CiHSNa b. C;HsSH c. HsS d. C;H;0Na

8. The best solvent for the following reaction is :

NaCN
/\/Bf /\/CN
a. Water b. Hexane & A;Qeéne d. Ethanol

%

9. The most reavtive substrate towards Syl is:

a, @.Cl b. @—cl ,: @/@—Cl d. O-a

Naow
10. Which of the following will react with sodium hydroxide?

P

a. CH;CH,CH,-OH CO " @ (@ CH4CH,CH,-SH
' '

11. The strongest acid is:

OH OH OH
X .
a.
y b. c.
CH, '




Q2.(8 pts) Give the name for each of the follw()ing'structures,‘assign the congfigurationas Z , E ,
R or S where needed: _ .
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Q3.(18 pts) Complete the following reactions by writing the structures of the ma_ior product(s).
Indicate the stereochemistry where appropriate, and give the name of the mechanism between the
brackets for the first ﬁve. _ / (¢
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Which of the above reactions will give a pair of diastereomers?........coeveeruvisiniusiniesess ~
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Q4.(10 pts) Complete the following reactions:

g CH,COOOH ‘\/ CH OH/H+ [j/\
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Q5. (5 pts) Show how you can synthesize each of the following, starting from cyclopentanol and
bromoethane.
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